BHocuten: “butten” EOO[
rp. Nnoeaus, Tpakus

yn. “Hectop Abagxunes” 13
BYNCTAT: 115163890
Ten: +359 32 27 00 27

Importer: BITTEL LTD
Plovdiv, Trakia Ind. zone,
13 Nestor Badjiev str.
ID:115163890

Tel: +359 32 27 00 27

ASSEMBLING INSTRUCTION : PRESTIGE KIDS
MHCTPYKLUUA 3A MOHTAX : PERSTIGE KIDS

www.bittel.bg www.bittel.bg
Assembling parts / EnemeHTH : Characteristics
A - Castors A - Konenua CeowcTBa Ha mogena
B - Base B - basa
C - Gas lift C - a3oB amopTMCLOp
D - Rim D - LWar6a
E - Gas lift cover E - MNBL, maHwWwoH
F - Permanent contact F - MepmaHeHT KOHTaKT
G - Plastic cover G -MNBL enemeHT
H - Seat H - Cepanka
| - Back | - Obneranka

M - Main screw M8x35 M - MaBeH BMHT M8x35
N - Main screw M8x18 N - maBeH BUHT M8x18

Assembling parts / pcs./
EnemeHTn / 6p. /

c [ [ [F
o
69@@%% =

56p.] [16p.] [16p.| [16p.| [16p.| [16p.

Assembling of position J,K,L is
only for armrest type models

Ready model
loTtoBO U3genune

1M

ST

16p.| [16p.| [16p.| [16p.]




	1: Polo with NO arms

